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UNIVERSITY DF NORTH BENGAL
B.A. General Part-1 Examination, 2019

EcONOMICS

PAPER-I (Revised New Syllabus)
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
feerl-=

i e-&
1 Answer any five questions from the following: 2%5=10

@-CFIF #Af6ly ot Tes we:
1 UEael UEes! SR e

(a) Define inferior good.
o8 wrm et wa
e awge! gy foge |

(b) State the law of Diminishing Marginal Utility.
FRFEE eifgs Taraies it 3 w7
B S Suliiae! FEE saege |

(¢) Define marginal rate of substitution (MRS) between two goods.
7 ¥ TgeE Afes Aiader I e we |
% TREOAIES] AT UieRTIs g% @1 gRETST e |

(d) What is Price-Consumption Curve (PCC)?
wia-(ert @ (PCC) & ¢
Heg IU9T 9% (PCC) ¥9&! B &l ?

(e) State the law of variable proportions.
Teriviea CFea e Seiites = 1 Fireh [ ¢
uRed=eiie sguEe! Fam sasTeY |
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(f) Draw the AFC (Average Fixed Cost) curve and explain its shape.

AFC @ o G R &3 % S g

MWW(MC}ﬁWﬁW1aﬁwmm
T |

(g) Draw the demand curve when price elasticity is unity.

mwﬁﬂmmmﬁmmwméﬁml
T W TS A - Y o BT |

(h) What is the relation between Average Revenue (AR) and Marginal Revenue

L

5. (a)

1065

(MR) under perfect competition?
ﬁWWWW(m}ﬁﬁmm@m}mwwﬁﬁw
@WMM(ﬂﬂ)aﬁﬁmﬁmmﬁ)mm$
0 ?

GROUP-B
faeti-4

e
Answer any fwo questions 10x2 =20
-5 Kb @veE TEF We
o g wEETR! S REE
What is budget line? How is it constructed? Why is it called a price line? 3+542=10
m@mﬁ?aﬁﬁaﬁmwza?mwmwwﬂ?
acmma%mmwmw?m@mmm ?

Explain the relationship between AC and MC with a suitable diagram. 10
Soige forea 7Ty AC 8 MC TR e T FE
W%mﬁaﬂ%ﬁaﬁﬂﬂwmﬂ)mﬁﬁmﬁmmqmﬁm

e e |

Define production function. Explain graphically three stages of production in 2+8=10
terms of relations between AP, MP and TP all in short run.

E&ﬂﬁﬂﬁ’ﬁ@rmﬂucﬁunﬁmcﬁon}ﬁ?ﬂ,MPﬁTPﬂwm
WW@WNWW(M@QWWWWWWL
Wﬁﬂaﬁqﬁwm@maﬁﬂﬁaﬂﬁ(ﬁymﬁmw)aﬁ
FA  SEE (TP)-Are) Sl Sl ST G SREed
Wmmnﬁmt

Show the relationship between AR and MR under imperfect competition. 4+2+4 =10
Waﬁmﬁmm(ﬁ@uﬁ}ﬁm@mmmmw#mn
a@uﬁwwwﬁm#{m}aﬁﬁmmmm}wﬁm
2EeTE |
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(b) What is indifference curve?
R N R e
T &1 %! B B ?

(c) Why two indifference curves do not intersect?
@ i e @l O e o FA0s A A e
gE9C] TCR VEES (69 AUl diese Tad ?

GROUP-C
faeit-at

HHE-TT

Answer any one question
@-&F @i e[ Ted we
T UE ge! ok REEd

6. (a) Explain the relationship between AU, MU, and TU graphically.

AU, MU @2 TU @2 7% orag J=ie Il 39
siteT STEIRET (AU), S Seafmr (MU), & 3o Suaiffe (TU)-ise!
] R R THE |

(b) Define consumer’s equilibrium according to Marshall. Derive demand curve
using the concept of consumer’s equilibrium and Marginal Utility Curve.
Iiite e TPTSIEE TEHIET W@ We| 93 TEwW Afe @ 2ifEw T
@R AR Tererer biEn @t ffr ==
Aol SUARATD! W URHIN THEN | SUHRnIS Hrger A T
FUIET YEr U T AN Y] e ey |

(c) State some limitations of cardinal utility approach of Marshall.
e TGRS ToEn wres g AwaeE Smd 99
AR SYUIMEIE! TOTREAT SEHIv B BE FAGNET Jeeld Ten |

7. (a) Show that for any rational consumer, indifference curves are convex to the
origin.
e @ o nTeafe Fom Iiea e @ ow R e Ten @l
@Mﬂmﬁﬁﬁ%mwmﬁﬁﬁ (convex) 8 Hl
WS THEN |

(b) What is income consumption curve? How can it be derived?

TiF-ret @4t ¥ 9 «ft e e Fae ¢
1Y JUHT & D @ B 7 I DAY Sga TS ?

1065 3
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(c) What is meant by price effect? Explain graphically decomposition of price effect
into substitution effect and income effect.

AR &S (Price effect) 370% & @RI ¢ B2 gw T o1 Freng Wi ger
(PE) = +if#e€ 2/or ¢ 9 2o Roe w3t 9

o9 UMY ST $ Bl ? ed WNIEE! WIS WNE i a9 WA Hise)
e Wi @R THE |

8. (a) Explain the laws of returns to scale.
gt R afew FEef e 79
AT wleEel Frem = TN |

(b) Why is the LAC curve called an “envelope curve’? Explain with diagram.
FIEFTA GF GAIT ‘Envelope curve’ 31 2 & ¢ B Figey it =21
SIEHTE sfve-vareTs e fmr-var wfvs ? et @ e |

*,

1065 4
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UNIVERSITY UF NORTH BENGAL
B.A. General Part-1 Examination, 2019

ECONOMICS

PAPER-II
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
o=
HHg-o
1. Answer any five questions from the following: 2x5=10
@Gl #fi5le 2teE Ted whes
F UrE9el AFewd! 9o fAger—
(a) What is the relation between value of money and general price level?
T T € FURe wEEs R o
HETH! A A WY 0 WAE @ 99 50 7
(b) What is meant by velocity of circulation of money?
s siferant e & @Rl e

HETH! TFaT 9 Wl @ e ?
(c) Define consumption function.
CSie! SToTs e we |
IYART HerEe! gREmT RTE |
(d) What is meant by transfer income?
TEES W7 e [ @RI 2
BRICNY] A ¥5lTel § 9360 7
(e) What is employment multiplier?
FHEN @ (Employment multiplier) FItF 307 ¢
AR O D! & B ?

1066 1 Tum Over
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(f) Define price index number.
W A5 FIF AE ¢
oI i e g TN |
(2) What is autonomous investment?
TGS R T 3w ¢
W Faw el @ 8 2

(h) What is full employment?

ofeffecaat R ¢
gl FSRTR A & 8 ?
GROUP-B
et
LLESE]
Answer any fwe questions
- 76 v Tew whe
H1 g3aET TFTEED IR RaEN
Explain the value added method of measuring national income.
WS WY R TR e i o)
T g Fafer 1 geg-an Y = e

Critically explain Say’s law of market.
‘CT (Say)-47 e TS FAh FMEBAEE T T
WD RS AP GRS w9 b THe |

Define money. Explain the important functions of money.
wrdE wE e | wds wwgel IrweR wEn v

HeTens U TN | 9ETET I8 FEE @ THE |

Briefly discuss the “Paradox of thrift”.
TOFCH FEER Wi [aiEel ogh W =

frcrezaara fRRteTar (paradox of thrift) @1 Blesdwr =i TN |

10x2 =20

10

10

10

10
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GROUP-C
et

HHE-TT

Answer any one question
@-F 936 orea Tea we
T Uh D! BTN GIER

6. (a) State and explain Cambridge version of the quantity theory of money.
e e e EEE 1ot & o gt =)
S ST a1 IRAvIeT Rigra Seore f ame TR |

(b) Distinguish between Cambridge version and Fisher’s version of the quantity
theory of money.

e SifEe O @i we ¢ R woem o e 5 e
Bfaw HBTS! gaT TRAvET figr af e S mefe THEN |

7. (a) What do you mean by inveluntary unemployment?
WPRIFE RFIAY IA00 & @I
IeE RS 7o B RS ?

(b) How does Keynes explain this problem?
% FeiT @2 Tt iRl FEe ¢
DG TH ARSI T RS B 7

8. (a) Discuss the important features of Keynesian consumption function.

I (1o SR awgs) ARy e wiEna 3=
PN ST Gerra! g RRaEe wel TEy |

(b) Explain the factors that determine the consumption function.
et wrews e Reaef ann w2
SO Her R T BREEE @R THEN |

(c) Estimate the values of multiplier when mpc = 0.5 and 0.8.
B W 77 9 T3 2T (S =TT (mpe) = 0.5 '€ 0.8 T |
W@ MPC=0.5 3 0.8 £, T8 Tore®! F9 Py T |

H

1066 3
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-I Examination, 2019

ECONOMICS

PAPER-III

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
frem-=

TE-B

1: Answer any five questions from the following: 2x5=10
@ #fipio evsm T wes
g1 diEael weEea ST Rge:
(a) What is national income?
=oR o & 7
TS AT B D B ?
(b) Mention two features of underdevelopment of the Indian Economy.
e S a1 WY S 9
ARER e ARERTTS gEae TUEE Jaredend |
{c) What do you mean by poverty line?
wiEE @ e & @Rt e
=Rea-ar Fe B gD ?
(d) Mention two main problems of low productivity in Indian agriculture.
SRS PR TH TerimaaeTer 5l 2 et a9
ARG Fee=w! = SeeTieas gEae 5 9Es saegerd |
(e) Mention two important objectives of land reforms.
SR e b e Sy Soe 9

T GRS TR T SIEIEH TASTEN |
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(f) What do you mean by Operation Barga?
et 2 TS R @ g
‘HNIE-TE WA B O ?
(g) Mention two features of Indian human capital.
SRS T TS F20 (A8 SrEd 9
A AT YoiidT geael AevaEs qaregeany |
(h) Mention two main problems of rural credit in India.
BIFCS & YEF Y20 e Tl S 9
ARTHT YAV FEUTHT Eae] G WiRTEw Sooid THe |

GROUP-B
faetel-<
Hie-9
Answer any fwo questions 10x2=20
(F-(FH o ooz Ted we
H g3ac] UFREeS! SN ey
2 Explain the causes of underdevelopment of the Indian Economy. 10

OISR TS SAIed SRS SEDa F9)
A e SEERT I8 FINUES ey TR |

Ly
.

Explain the importance of estimating national income of India and its 10
limitations.

SHTA SO W AR T $FY ¢ FARTS! WG| 39 |

HRAD! I TVATS] Few@ A IH0] FAONEED] SRl THaY |

- What are the features of the new agricultural strategy on which experiment is 10
being made in India.

TlA0ed $RA0S (@ wg FHeme (New agricultural strategy) a1 #3151 5eire ©F
iyt (el & o

ARG FET TTRGST 741 HY ST Aeyass @ & g7 7

5. Discuss the difficulties of agricultural marketing in India. 10
SRS TR Rewm i wReef wweasa w1
ARG Y e faveer seTEesws! w=f THaN |

1067 2
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GROUP-C
faefal-t
[HE-T
Answer any one question

(8- GFT et Taa we
B [P U] 9o fagEn

20x1 =20

What are the causes of low productivity in Indian agriculture? How far has 10+10=20

Green Revolution succeeded in solving the problem?
TRUSY FfATe SR TweE SR [ o ¥ A e e Ry Tehl
FHFA FELE ¢

IR B & B sarerieoer i eroee @ @ g 7 O
TR WA T SRa i a9 AU T 7

Mention the main causes of unemployment in the agricultural and rural sectors
in India. Suggest remedies for the problems of unemployment in the agricultural
and rural sectors.

TIAUST IR CRED ¢ SR FTHLTOR oW IRt Tey 791 FR e ameE
FEeR aifees e 391

ANTD! B A GO SEEET IWSTNET TE BRUEG ey | B
A AT EEEGH ISR GRIATEHST WHEFST SUUEs e |

A rapidly rising population of India is the most fundamental obstacle to
economic development—Explain.

FoEd FIRENN TRy sie adnfes [ e O 3w — a2
TG WG F1

ANGD! TEEE OF g 4 afie Remer T I 9T e
ST THEN |

¥

10+10=20

20
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UNIVERSITY {)F NORTH BENGAL
B.A. General Part-1I Examination, 2019

ECONOMICS

PAPER-IV

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
et
qHe-&
1. Answer any five questions from the following: 2x5=10
@-CFF 56 2z Tea whes
F Toaer FEwdl STk (S

(a) State the condition of equilibrium of a monopoly firm.
GTHIHT! FRAIAR SRS 6 SrEd 79

% YDISDT THEB! Wgerie] T guregend |
(b) Draw a diagram showing the ‘Shutdown-point’ of a competitive firm.
@B TR TR Test 0w Rl e 331
& ufendt Bl T T Ry dwTee veer YanE ae g |
(¢) Is selling cost essential for monopolistic competition?

il eferaien Rey o sty & e ¢

% yitrauies tofReren Rey a JEEs 579 7
(d) What is meant by Value of Marginal Product?

elffee Teofm 71 & ¢

BHT SES] A W @ 480 7
(¢) Define the concept of Quasi-rent?

IR & FF M 2

‘G-I BT IRONST TRATST (& |

2066 1 ' Turn Over
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(f) Can there be rent element in Wages?

THAS F e T A0S °IieE 2
@ S WD) O §0 7

(g) Define the term ‘Homogeneous Product’.

FAGTS T 5 TS & @R 9

‘TEBY IATS-HT Geene aREm e |

(h) Can profit be zero and negative? Give reasons.

2066

AR X[ SR Y 200 A 7 S w90
T FAE I A S IS ? BRUEE TSIy |

GROUP-B

et
TE-g

Answer any fwo questions 10=2 =20
(- 730 evea Tea we

I GRIC WETEES! ST e

Make a comparison between perfect competition and monopoly on the basis of 10
Equilibrium Conditions.

AT *0ea Toid Tofe T i afermbrel e aamba F9aEa ol 341
el wiewe! amEmAr gof uftrent st veRerEs geer THEN |

Discuss the different characteristics of monopolistic competition. 10
G eferaieEs amies taeE s 99
wieeiers yEitere fafis fAewaes 99t TN |

What will be the nature of supply curve of a firm under perfect competition in the 10
short run?

=[¢ifF effSrafiets Feens T ce @9e wisfe I =4
e oot witrewt st wEe of Yare! st e 5 7

How are the Wage rates determined in real practice by the collective bargaining 10
between employer and trade union?

A AT € =T rEy Ty @Y EeaeE T Fere vein 37 ke @
L e T BT A

TEAS ZEERAT USRS A A0E WIeTes TEF Grfes AeagnT
ST ©X S iR g ?
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6. (a)

(b)

(c)

8. (a)

(b)

2066

GROUP-C
et

THe-1T
Answer any one guestion

@S GFfb @ Teq e

B IF I SR fege
What is monopoly?
GFHEHA T FNE T ¢
UHIREHR FH & 8 ?
Can a monopolist influence both price and output? Justify your answer.
SFHRA Terime Pivle Teriwra i e v i Ta0e »iw & =1 o
A= F41
gﬁmﬂﬁ 24 qou I AEEY gNE OEEEs 7 ol STRe e

I

Show that a monopolist can earn normal profit, super-normal profit and even
incur losses in short-run equilibrium.

(e (T SFHI0T FRAE] FHSE Fol e, Sele T o F4re i,
G Hioge LI TS A
ACTHTTA UPIHRIel HHFE FATHI, A e o 7+ wd) Aews a9
TOTS7 HIO Wl S@reIerd |

What is loanable fund? How is the rate of interest determined by the supply and
demand for loanable fund?

Ao SR St I ¢ AT S2EEE SRR e @niee TR e e g4
ez
FUERT B TH D B ? HIUMATY NG AET I ofifew &W R o
i 579 ?

Define and distinguish between the following:

MPP, VMP and MRP.

frefefie Rmmeln mwt wie @ #ide ot =

2fEF e Teoime, aifeF Termraa T ok e o Sesinm)

Frafafaa aronees! b oretery aif s deeaE:

W Wifae Seare (MPP), ST Sared! 719 (VMP), &I dmra am=er
SdTe (MRP) |

What are the assumptions of the marginal productivity theory of distribution?
Discuss also this theory.

el Tesiwe 354 ©Ea Wal2e SEmef & & ¢ @2 ool =i 731
TMWWW%%E?#E%W&
THE |

20=1 =20

3+7+10

20

10+10
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2019

,‘ [ l,u

EcoNoMICs

PAPER-V
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
st
Hg-&
1. Answer any five questions from the following: 2x5=10
@G #ff5fo s Teq wes
% dager yeees! SR REe:
(a) Define money multiplier.
AR @ IS T
He1 o] aRareT fage |
(b) Write two functions of commercial banks.
s e 1 =& Swd 791
aaE dieees giacT FHEwE dEiEN |
(c) What do you mean by devaluation?
SR FE I ¢
IEHT TS B gerw ?

(d) Distinguish between quantitative and qualitative credit control measure.
RS 4 fEEs e ede g R e @)
o Fo=eE ToTEs S e SuEeAs e TR |
(e) What is meant by credit creation?
Yt G S F| @GR 7
O Yord Tl B GErS ?
(f) What is meant by impact and incidence of taxation?
FAET '@ FAHC 00 = @RIE ¢
FIFS! JHE A AR T D IR ?

2067 1 Turn Over



B.A./Part-Il/Gen./(1+1+1) System/ECOG-V/2019

(g) Distinguish between savings and hoarding,
T G AT Ty A @ |
=0 A FEagETseT e TaegE |
(h) What is free trade?
it ey 7 o
Hth AR F96] & B 7

GROUP-B
fet-4

HE-E
Answer any fwo questions 10x2=20
@-FF ¥ oeia Ted we
G gRac] TEEEH| SO fEEM
2. Distinguish between balance of trade and balance of payments. 10
T T e ey Tyren W il e

HIRS] Hrel 1 FHrd! Fgeas e SEsTey |

3. Give arguments for and against indirect taxes. 10
A S A0F ¢ Roirs & madte)
Wi SRl gey a3 ke awee e |

4, Explain Ricardo’s comparative advantage theory of international trade. 10
TEE S AfmeTa cag fencl-a g Ao 9el Wi 341
IRty amre! Rerete! qgere s fgra @ THEN |

5. Explain critically the classical theory of interest. 10
FAICEAGHTE 27171 (Classical) 77 T&0 =7 341
NSl AT R SaETeE SO S THE |

GROUP-C
et
G-
Answer any one question ' 20%1 =20
-3 4310 erea Tex we
T U WET@l SR (SR
6. (a) What is public debt? 2+6+12
TESIR] W o0 B @RI 9 ‘ =20

S 0 9SG B B 7

2067
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(b) What are the sources of public debt?
FRSA ¥ T R R g
TS TS GITES B B 5 ?

(c) Do you think that internally held public debt imposes any burden on the
community?
gﬁﬁmwmmﬁwﬁww%mﬁmmmwmmm?

%mﬁaﬁm%mmwmmﬂmaﬁm
TS IS 7

7. (a) Distinguish between demand-pull and cost-push inflation.
viw ReTTe urdife g T JRee TErRT W #ide B =)
A-ART qerenit s IRF-ORT geredife arie RN |
(b) Discuss the various anti-inflationary measures.
T Rl Rien smfeoeR awasa w21
fafa gereife-fdedt sumes ==t e |

8. (a) What is meant by credit creation?

A e IS | (@R 2
T G S B B ?

(b) Explain critically the credit creation process of the commercial banks.
aMfefeTe e 3 sjem 2T FRAEAGAETT T T |
AP TSP AT FoI-1HT TEHAT A= T |

(¢) Discuss the credit control measures of the central bank.
T FET e s st SAn 99
S ATHTT WG Yool SUIES T4 THE |

2067 <
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UNIVERSITY 'UF N ORTH BENGAL
B.A. General Part-IT Examination, 2019

EcoNOoMICS

PAPER-VI

Time Allotted: 2 Hours

The figures in the margin indicate full marks.

Full Marks: 50

Candidates are required to give their answers in their own words as far as practicable.

All symbols are of usual significance.

GROUP-A
o=
T E-F
1 Answer any five questions from the following:
A lisls ovHa Tea wes
(a) Define the term “Planning’.
“offaeemt Feibe e we)
TSTAT -] HTRET TRETNG e |
(b) What do you mean by Industrial Sickness?
i1 zaiel Feie & @R 9
S S we B GRS ?

(c) Distinguish between money market and capital market.

wdE IEE € TN ISET T2 AT T
a1 g A ol goears gRie e |
(d) Define statutory liquidity ratio.
Ritam 75 Spiited sREl we)
e e s aRiE THE |
(e) Give some examples of Indirect taxes in India.
TS AT F0EA g TaEe we )
RGN TN TP DE] SIETES 698 |

2068 1
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(f) Give two important functions of the Finance Commission.

o Siia g6 e e S w9
fa smarTeT gEaer g FrdEw aaegeN |

(g) Define cottage industry.

b7 -z et we)
TN SET TR e |

(h) What do you mean by ‘Privatisation'?

to

2068

(FREAE e & @R ¢
‘et a3 gRrD 7

GROUP-B
fete-2

HHE-
Answer any fwe questions
@-FF Ffo eva Tea me
P gEac] UTIEG®l SR fGqEN
Discuss the features of Indian Money market.
SIS W4 AeES IEErefE S =9
ARG 5T SARST (RS 9491 T |

State the role of Cottage and Small-scale industries in Indian economic
development.

wIaea NdAfES Trae 7y © 3 Mo ey wiEsa 94
AR el e SR A oy Sars! e S THEN |

What is the importance of social security measures in a country like India?

TH0SA WOl (e Sife FRtereEe I9EE oF g SEha $4
IRE S| SO WIS TP SINEed! @ A5 B 7

Explain quantitative measures of credit control by the Central Bank of India.
¥t T erren e gitea Afweste IR R 791

ARGP! SUG o] 0 MT=VD! AEHG SYUESD] HE] T |

[ o}

10=x2 =20

10

10

10
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GROUP-C
Astst-af

BT
Answer any one question 20x1 =20
F-(F ST ovnT Twa we
T UF UEHT O fegeg

6. Discuss the changes in the volume, composition and direction of Indian foreign 20
trade since 1991,

shaaﬁmﬁmwmaﬁmw,memm%
T O Wiees 32

ﬁﬁmzqﬁfqﬁmﬁ'&iﬁmmw,maﬁmm@ﬁ
gRae=y ==t g

7 Critically examine the achievement and failure of Five Year Plan in India. 20

SIS AR st T © wdet w5

wmmmmﬁmmmm
TR |

8. (i) What do you mean by import substitution? 4
I RSS! e R @R o
AT AFRTYT o B it 2
(ii) Discuss pros and cons of it. 6
9T T ¢ Retw 1 e
TEPT BRICT A ArTew = e |
(iil) State the success of the policy of import substitution in Indian economy. 10
SIRCTA WMol o SR iRl ew eyt @)

wmmmmwmm;
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-1II Examination, 2019

EcoNoMICcs

PAPER-VII
Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

(Development Economics)

CRISERRTII))

GROUP-A / Rein-& / GHg-B

I Answer any five questions from the following: 2x5= 10
@T-CPI #Apl5 @lvaw Teq miss
H dieae] TRAESd SR AN

(a) What is marketable surplus?
Reeaisy Sge & ¢

fIspa-a I8 WDl B BT ?
(b) How do you define dual economy?
tre-wdSifed TKel [Tl (i 2
S rfaReTaTs Bet aRHTR T g9 ?
(c) What do you mean by Human Development Index (HDI)?
AT TRICE IS (HDI) 57 il 5 @l 9
AT a6 i (HDI) 99el & g3 ?
(d) Distinguish between ‘Economic Growth’ and ‘Economic Development’.
e ejfar @ wdiiosT Saacas W =ik & o
‘anfdfep gieg’ o anfefer faerer-wrer urefe e |
(e) What do you mean by ‘backward linkage’?
*61e8! (Backward) JKC9 (Linkage) f 9
‘UBIEI-HE AT WET B g ?
(f) What is the meaning of SDR?
SDR-43 5L F ¢ :
U4, Sl 3R. (SDR)-®T a1f & &I ?

3100 1 Turn Qver



B.A./Part-111/Gen./(1+1+1) System/ECOG-VII/2019

(2

()

3. (a)

(b)

4. (a)

(b)

3100

What is labour-intensive technique?

&G @ (Labour-intensive technique) & 2
STH-UE Afel 9Pl & 8 ?

What do you mean by unbalanced growth?

ST @gfa (Unbalanced growth) IeT0® &6 (@R 9
AT IS ATl B Y30 ?

GROUP-B / @ei-2 / T8-T

Answer any fwo questions 10x2 =20
(- 75 T3 Ted wie

@1 GedCl URTEwd] SR (A

Explain the concepts of HDI, GDI, GEM and HPI. 10
HDI, GDI, GEM '8 HPI-47 {i=efiefer Jpip 541

U4, €I TS, (HDI), il $1. 18, (GDI), il 8. TH. (GEM) a1 T 0. e1s.
(HPI) &1 SJqURUNES IRAT TS |

What do you mean by optimum population? 748 = 10
FAEAEN TR IS & QR 2
S STHEET 9T & g3 ?

Discuss the theory of optimum population with the help of a suitable diagram.
T foraa AR e TR g6 Wb F1
T SUYH NE-IFD] FEANTel STAF Sied]l g a9l Ageid |

What do you mean by capital formation? 2+8 =10
S ol FEe T @Rl 2

ol fosior wemer & gisro ?

What are the major obstacles for capital formation in the under-developed

nations?

SRS (AT SE Slote 5 6 q@ et 7w 2

i SerEear doil FHivMT 37 STaReEs & @ g ?

Explain the theory of balanced growth in the economic development of a couniry. 10
G e ST TRIC I [ woed I
G <erenT i famranr Axgfera Susia! Rig &I s |
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6. (a)

(b)

8. ()

(b)

(a)

3100

GROUP-C / Teta-a / FH3-T

Answer any one question

@A-FF G0 AT Teq niS
G TP YD SR e

20%1 =20

Distinguish between labour-intensive and capital intensive methods of 7+13=20

production.

- R ¢ JRE-fRE Tl #&fo 3w “Nde 741
SeUTETRT SN Sty Ao yere faftes Ars ureie TE |

Which method of production would you support for a developing country like
India? Give reasons for your answer.

ST TS SRR (e G I AFSB TS AT T T 7 (ST TG HAF

e nie)
ake 3 ferdie Sw@ ik quE SereTsr g s wwd g |
] STATIHT HROES T T804 |

Explain the complementary role of agriculture and industry in economic
development.

ST e IR ¢ P (7 S SR 2w, Il 2
mﬁmwmwmqﬁmmwmn

What is economic planning?

wefes oAfmee & 2

Y AISHT AT & Bl ?

Discuss the rationale and necessity of planning in a country.

@I (el TR AfREeE (el € drEae! Sl FH1
Y et Ak et sl o STaard! ad T4ee |

Elementary Statistics

(ehefir aififRE)

GROUP-A / [{eia-= / THg-P

Answer any five questions:
@~ A5 et Ted nies
@ dfeder veTewd! ST fagEr:

Define the term ‘attribute’.
¢ Attribute’ JECS & @RI 2

qUTchT TR e |

20

4+16 =20

2x5=10

Turn Over
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(b) What do you mean by ogive?
‘Ogive’ F7ce & @Ry ?
AR =TT & Ry -

(¢) Show that: D (x, —%)=0.

T8 @5 D" (x, — x)=0.

203 =%)=0, 5 = Jerogen
(d) What is class limit?
G I (class limit) 1 et 9
Sl IR ey 3 gy ?
(e) What is cumulative frequency?
FAABT oIt (cumulative frequency) & ¢
P Ay v @ o

® If all observations are equal, what will be the value of ‘range’ ang ‘standard’
deviation’?

I 77 Aoy s A, O O “standard deviation’ 8 ‘range’ R 27g ?

(8) Calculate the range from the following data:
58, 38, 67, 88, 38
[BECR Aoy i Range fozoi 359
58, 38, 67, 88, 38
TITHIE “Defrge’ oo e
58, 38, 67, 88, 38.
(h) Define pictogram.
Felfoa (pictogram) i 2ge ?
R s (pictogram)-r gfeey e

GROUP-B / Rebt-4 / G-

Answer any mwo questions 10x2 =20
@-CPI9 7% etz Tex wie
BT GEI TeTEeH T g
10.(a) What is primary data? 2+8=10

AR Aoy & o
TR ya oo ey @ & :

(b) Describe the various methods collecting primary data.
R o=y SRaieg Rifoy N / AHToS R wigsH
TN GeT qe averT T Ry Ffres =t ey |

3100 o
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LD Find the AM and median of the following frequency distribution: 10
Class: 10-20 20-30 30-40 40-50 50-60 60-70
Frequency: 8 12 11 9 8 11

e #ReRel Reies @ AM. € Median () e <=1

Class: 10-20 20-30 30-40 40-50 50-60 60-70
Frequency: 8 12 11 9 8 il

WWWWW(A.M.)&%W@WQ
gofl: 1020 20-30 30-40 40-50 50-60 60-70

amgfa: 8 12 11 9 8 11

12. Find standard deviation (SD) from the following data: 10
Height: 120-124 125-129 130-134 135-139 140-144 145-149
No. of Students: 12 25 28 15 12 08

SRS Aoy (@ i Bi® (standard deviation) IDERRESE
ool 120-124 125-129 130-134 135-139 140-144 145-149
Big WA 12 25 28 15 12 08

WWWWWWW:

STTs: 120-124 125-129 130-134 135-139 140-144 145-149
BIH AT 12 25 28 15 12 08
13.  Draw a pie chart from the following data: 10

Revenue of the Central Government of a Nation:

(Rs. in crores)

Income Tax 400
Excise 550
Customs 670
Corporate Tax 350
Others 175
Total 2145

3100 5 Tumn Over
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e Ao (QE pie chart S

BeH Bt
Income Tax 400
Excise 550
Customs 670
Corporate Tax 350
Others 175
Total 2145

Prefofeg Tod dede TSel U e BHEN | G QU B GXhRe!

AT
(X, BRISH)
SIRER 400
TR 550
AT e 670
PYARE PX 350
I 175
Eagl 2145

GROUP-C / fastat-at / |-

Answer any one question 20x1 = 2(

@A-FH GFB AT Ted w8
@@Wﬁwﬁﬂﬁm

14.(a) Explain the advantages and disadvantages of the common measures of central 10+10 =20
tendency.

@ET 2RereE ikl Mot F[l @ et I T
F=r ygRier T fafteedT gfaer o sRIfETEG®! ARAT TEN |

(b) Prove that > (x,—X)=0

i=1

AMAFIEA D (x,—%)=0

i=1

i(xi—)_c)zo g0 I YT TN |
i=1 -

3100 6
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15.(a) Define:
(i) Standard deviation (SD)
(i1) Median
(iii) Coefficient of variation
(iv) Quartile deviation.
IR W88
(¥) Standard deviation
(¥) Median
(51) Coefficient of variation
(%) Quartile deviation
TR¥TST oEge
(%) AF® g (SD)
() HeO=T
(1) fafderarer o (CV)
(=) =g fa=er (QD)

(b) Draw a histogram to represent the following frequency distribution:

Class:  500-510 510-520 520-530 530-540 540-550 550-560 560-570 570-580
Freq: 8 18 23 =37 47 26 16 5

e #iftPr e (S Histogram SIF $5¢

& 500-510 510-520 520-530 530-540 540-550 550-560 560-570 570-580
oA 8 18 23 37 47 26 16 5

frfoRad smgRy faaRves <@sy] U@ At sifhd THERT:
Soft: 500-510 510-520 520-530 530-540 540-550 550-560 560-570 570-580
argfer: 8 18 23 37 47 26 16 5

16.(a) Find the median from the following distribution:
Class: 30-35 35-40 40-45 45-50 50-55 55-60
Frequency: 8 % 10 8 12 10

SR o e @& Median Wi $3

) 30-35 35-40 40-45 45-50 50-55 55-60
#f Rl 8 12 10 8 12 10

frefeRad Riqvoare 72w (Median) GISIEIR:

gy, 30-35 35-40 40-45 45-50 50-55 55-60
amafy: 8 2 8 12 10

c

3100 7

2.5%4 =10

10

10+10 =20
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(b) Find the SD from the following data:

Class: 20-24 25-29 30-34 35-39
Frequency: 16 28 14 12

fesfei® A9y (tF Standard Deviation et 22
@R 20-24 25-29 30-34 35-39
AfeRan 16 28 14 12

fRefeRad yex degere aMe e @cgE:
gofl.  20-24 25-29 30-34 35-39

srgfy; 16 28 LN

-~

3100 8



